FAV PR35 R 1128 18 kEVE4

a2 ERD Em @

EPRHET C RIRA ~ R H FRE

LB B - BAFREY LS BfE L
LRER-SIAREC LR R EETTTR PR

B YL R E S Wi 8507 () eges
2. AEF pRIER PR 2 B ‘s ]+ % [Jis %+

L\l}’}évﬁ&’}ij}’}?o i,‘%\ (B %7 |:|7\»§§ nw

3. e HAREF Y LRRE 55 %% % ~= l?@ﬁs

mﬁgiiﬁ%%,%@ﬁﬁo &R (il maet 4
RAESAAETN B LI v [J*#F %%

CJF 2 &2k (FAE)
ﬁﬁﬁ4’%¢$i SR L (F o Pov n ¥

\qﬁ - ‘?\(‘E\ T\

~ BEERIENKE e EhELsE o BEE A BRI B Rt o
2~ Agd PR R A RARE TR gF N i S ki'] A 5"%1%’“ AR E gy o T
TR GFend R L 0 FH A KA EREP

b

wZ
&

CEREMF
BRI R ap
N ;g ¢ 4 ﬁv%’zﬁiﬁzﬂ % 33 fﬁ*ﬁi*%%gﬁpq)
3 2 BEEITE RN (TR AT HE RS g E
4~ B AEL S RAE A Ko £ %
5 BB & 5P
6 P AFRE A X (GREFT B S i
%y |7 4 EEd BSOS J'Jﬁ«((ﬁﬁ » Fle R 3);(;-))2
RE |8 CEFHAER
oo~ AT 5 At RISk R
I T B¢ A RPN
R P T
‘#ﬁ/ﬁﬁib?’Lxg,.ﬂ
13 AR o P B B R &R B
iy~ R TR

CRER R
1 P AR EY S o
S CEBEYH S RN L o

3 FRFE AR RS LTINS -

(7

~p

;‘\

>

]

(7

e |
A3 1~ &3 578 40%
;|2 2 EREARE 40%
g 3~ kE &AW 20%
Dy |(BRERELR A RA BV E PRV REET 20 E)
P

I FlEmrgBE< R A 0823 % a@g? 53 - 252 BERIHE
x5 HEELEY ~HHBLAZTE SN s R E g BT S AR EEY > B p e
pop | TEEC RS R GEER

2 AARPIRE S LT pe DB ERELIED R XL RPLF R AFE

do @ BEE %

* 3 1‘}5‘2@43 % 39 )
2 ABES - FAEL AR nﬂ%%ﬁﬂo

I\S7

4

\ [FURNIORN
i

1%

e

S

W‘\
-
4%

g
cl.l
R




ISR BRE T FESE SIVE XY SRR £ I3 <2 Y
. % 4y
NV R KEER R
1»
N 8/30 B & p
) 1 (272812930311 |2 |[3kAefifzr A4ty vam
_ N o p e ak el K e 9/5-6 % - = WY
2 % 22l = =2 7
= 3145|6789 |FHMAME: gy > \wmp 9/9-10 FE < 3F % - FEEA 2
= ® 74 ArEAR TR 9/16 B fep F5~r B pEHP &
= 10|11 (12 13| 14|15 16
: (i 8¢ gathsnn)
4RI R S 9/23 4% 7 + FL ¥ FGi¥ 10/9)
= | 17[18]19(20]21 |22 23<;%U_£i§;ﬁ@;,@)
I [24]25(26|27(28(29|30 | B2 ~ ALKk E%E 9/29 @ F &
A [ 123|456 |7 |24F 4L 5
B OARE L AR 10/10 B A& p
= [ 8|9 [10]11]12|13|14 .
a (Fi#’%\* E:%L‘E‘a*’)
4R A S B4 ET R 10/17-18 % - = %% .
A 1151617181920 |21 ‘ S
’ (F8 > Fdied BB %7)
dEE T B EA
22 1232425262728 |1 I
- (B~ Gt R 305
, y 10/30-31 % = = #%
L % 2y N » El
. 2913013111123 |4 g 188#FNE 11/ 24
L 5 (6| T |89 1011|3745 ~MeipzksspR (- ) 11/6 ¥ & 4
T |2z (1213141516 |17 |18 [37% 5 ~ e BB R (Z )
Plr=119(20(21(22(23|24|25 | 8HE=N L
L [26(27(28(29(30)1 |2 |®B° 2 REEHP 11/30-12/1 % = % %4 .
LT 3456|7819 B AEEERM
AR 1011121314 ]15[16 |* &4 BemEER 12/13-14 % = = ¥4 .
‘H L= P17 (1811912021 |22 |23 |[$EFEAEETFLE
LA 1241252627 (2829 |30 248 ~ o Pl S B A fEFRE 2P
12/28-29 % = % 24 (B =)
L4 (311|234 |56 |24 e PlokBHEETHE axXp 1/1 ~ &
1/5 #1924
—n & T1 819 |10[11[12]13|¥ % w2 :=F
L b g 1/17- 19 ai—:'r?;%’(ré— \;s:)
F- (21 1222324252627 1/23- 26 \r‘ A F%:(4/23 25)
= (2812913031} 1 (2] 3
‘;‘ %—.: 4 5 6 7 8 9 10 z;?ﬁ:% 7 ’2/10 W‘”"‘ ’ 2/8_14 %;‘F‘
- |11 (12|13 |14 |15]16 |17 2/17 4 7+ 51t 2 2/8)




